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Use of Correct Verb  

The subject (noun) of a sentence can be singular (one) or plural (many). A verb has 

to agree with its subject; therefore, if the noun is singular the verb must also be 

singular. 

Example of incorrect sentence: The cars (plural subject) was (singular verb) parked. 

Example of correct sentence: The cars (plural subject) were (plural verb) parked. 

Q. Rewrite the following sentences with the correct verb in the spaces provided. 

a. There (is/are) many people on the bus in the morning. 

_____________________________________________________________________ 

b. Animals (has/have) a tendency to behave defensively. 

_____________________________________________________________________ 

c. There (were/was) a serious accident on the road.  

_____________________________________________________________________ 

d. Slow moving vehicles (is/are) likely to cause delays. 

_____________________________________________________________________ 

e. The level of theft and violence (has/have) increased. 

_____________________________________________________________________ 

f. Producing medicine (is/are) a lengthy process. 

_____________________________________________________________________ 

 

 




